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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 9,270

2. 5,097

3. 7,742

4. 12,486

5. 6,539

6. 10,705

7. 13,103

8. 4,331

9. 12,462

10. 12,205

11. 15,018

12. 8,229

13. 15,273

14. 10,004

15. 15,235

16. 6,890

17. 9,687

18. 5,393

19. 13,749

20. 11,000

Solve each problem.

1) 5,803 + 3,467 = 9,270

2) 2,702 + 2,395 = 5,097

3) 4,442 + 3,300 = 7,742

4) 9,503 + 2,983 = 12,486

5) 4,991 + 1,548 = 6,539

6) 6,470 + 4,235 = 10,705

7) 8,600 + 4,503 = 13,103

8) 2,395 + 1,936 = 4,331

9) 9,947 + 2,515 = 12,462

10) 7,426 + 4,779 = 12,205

11) 9,501 + 5,517 = 15,018

12) 4,821 + 3,408 = 8,229

13) 9,240 + 6,033 = 15,273

14) 8,751 + 1,253 = 10,004

15) 8,645 + 6,590 = 15,235

16) 4,562 + 2,328 = 6,890

17) 8,648 + 1,039 = 9,687

18) 4,158 + 1,235 = 5,393

19) 7,474 + 6,275 = 13,749

20) 5,696 + 5,304 = 11,000
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Modified

Solve each problem.

10,705 12,462 13,103 15,018

8,229 9,270 5,097 4,331

6,539 12,205 7,742 12,486

1) 5,803 + 3,467 = 9,270

2) 2,702 + 2,395 = 5,097

3) 4,442 + 3,300 = 7,742

4) 9,503 + 2,983 = 12,486

5) 4,991 + 1,548 = 6,539

6) 6,470 + 4,235 = 10,705

7) 8,600 + 4,503 = 13,103

8) 2,395 + 1,936 = 4,331

9) 9,947 + 2,515 = 12,462

10) 7,426 + 4,779 = 12,205

11) 9,501 + 5,517 = 15,018

12) 4,821 + 3,408 = 8,229

Answers

1. 9,270

2. 5,097

3. 7,742

4. 12,486

5. 6,539

6. 10,705

7. 13,103

8. 4,331

9. 12,462

10. 12,205

11. 15,018

12. 8,229

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0
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